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QUESTION 1

You have a table of products with fields for ProductID, Name, and Price.

You need to write an UPDATE statement that sets the value in the InStock field to Yes for a specific ProductID.
Which clause should you use in your update statement?

A. THAT

B. WHERE

C. GROUP BY

D. HAVING

Correct Answer: B

QUESTION 2
HOTSPOT

Instructions: For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct
selection is worth one point.

Hot Area:

Answer Areca
Description of Behavior Yes No
A clustered index sorts and stores the data columns of a table or O O

view in order, based on the clustered index key.

A non-clustered index 15 defined on a table or view by using a O O
clustered index or heap.

A unique index ensures that the index key contains no duplicate O O
values and that every row in the table or view is unique.

A filtered index is a clustered index that is optimized for queries O O
that select a small percentage of rows from a table.

Correct Answer:
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Answer Area
Description of Behavior Yes No
A clustered index sorts and stores the data columns of a table or O | Cj|

view in order, based on the clustered index key.

A non-clustered index 15 defined on a table or view by using a | O O
clustered index or heap.

A unique index ensures that the index key contains no duplicate [e] O
values and that every row in the table or view is unique.

A hiltered index is a clustered index that is optimized for queries O O
that select a small percentage of rows from a table.

QUESTION 3
This question requires that you evaluate the underlined text to determine if it is correct.
A key defines the amount of storage space that is allocated to a value in a column.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct

A. No change is needed
B. format

C. data type

D. validator

Correct Answer: C

QUESTION 4

Instructions: For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct
selection is worth one point.

Hot Area:
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Statement

The VARCHAR data type contains only num enc characters.

The NUMERIC data type contains only num bers that have decimal places.

The INT data type contains only whole num bers.

Correct Answer:

Answer Area

Statement

The VARCHAR data type contains only num enc characters.

The NUMERIC data type contains only numbers that have decimal places.

The INT data type contains only whole num bers.

QUESTION 5

One reason to add an index is to:

A. Decrease storage space.

B. Increase database security.

C. Improve performance of select statements.
D. Improve performance of insert statements.

Correct Answer: C
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